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Who is the Chief Minister of Rajasthan state (as of June 2024) ?
(A)  Vasudev Devnani (B) Bhajan Lal Sharma
(C) Sachin Pilot (D) Kalraj Mishra
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Dumping refers to :

(A)  In abroad buying of goods at low prices and selling at higher prices locally

(B) Expensive goods selling for low prices

(C) Reducing tariffs

(D) In abroad Sale of goods at a lower price, below their cost and price in their home market

s #1 w2

(A)  AETEITE TR (B) <A Wt

(C) wiem FaEE (D) Tl wiFEA
Who discovered Oxygen ?

(A) Bartolomeo Cristofori (B) Joseph Priestley

(C) Georges Claude (D) Christian Schonbein
feiy @ =y # Feamam fopm o & |

The Indus Waters Treaty was signed in the year .

(A) 1950 (8) 1952 (C) 1949 (D) 1960
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Which among the following was designated the first RAMSAR site under the Ramsar Convention in
India ?

() Ashtamudi Lake (B) ChikaLake
(C) Sunderbans (D) Wadhwana Wetlands
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Poverty in less developed countries is largely due to :

(A)  Lack of cultural activities (B) Lack ofintelligence of people

(C) Voluntary idleness (D) Income inequality
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When is National Maritime Day celebrated ?

(A) 7 January (B) 10July (C) SApril (D) 4 March
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What was the primary objective of the demonetization policy implemented in India in 2016 ?
(A) Reducing inflation (B) Promoting cashless transactions

(C) Curbing black money (D) Boosting economic growth
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In what ways does the rise of populism affect global political stability 7

(A) By increasing political polarization and undermining democratic institutions
(B) By focusing on national interesis

(C) Bystrengthening international cooperation

(D) By addressing shared global challenges
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CPCB stands for :
(A) Control Pollution Central Board (B) Central Pollution Control Board
(C) Control Pollution Control Board (D) Central Pollution Gentral Board
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What is *hashtag’ used for on social media ?

(A) To increase engagement and reach (B) Todelete a post

(C) To decrease content (D) To decrease likes

FF W HA g ufven ¥ i FARREE o anfis wwE # 9gE W e HEe wm e 7

Which ization focuses on ing regional and in
South Asia ?
(A) OPEC (B) BRICS (C) ASEAN (D) SAARC
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What is the main advantage of using a double-blind study in research ?
(A) It eliminates researcher bias

(B) Itis less expensive to conduct

(C) lisimplifies data analysis

(D) It requires fewer participants
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Which mineral is known as ‘Buried Sunshine’ ?

(A)  Bauxite (B) Coal (C) Iron (D) Mica
1 IR YEF B AL 12.36%  qGEHT A

Central Excise Duty rates were increased from 12.36% to E

(A) 16.50% (B) 20.0% (C) 13.10% (D) 12.50%
ARE i e § HA F AW T a7
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(C) =8 (D) FF=1

Which country is the largest by land area ?

(A) China (B)  United States of America
(C) Russia (D) Canada
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What does the Asian Development Bank (ADB) do ?

(A) It manages the stock exchanges of member countries.

(B) It enhances trade agreements between member countries.
(C) It regulates financial markets in Asia-Pacific countries.

(D) It provides financial assistance for the development projects.
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First Governor General of India was .

(A) Sir Charles Metclafe (B) Robert Clive

(C) Lord Amherst (D) Lord William Bentinck

s feiTas o Tefehi (LSST) 1 9 & Fn & ?
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What is the main function of the Large Synoptic Survey Telescope (LSST) ?
(A) To study dark energy and dark matter

(B) To monitor the sun’s activity

(C) Todetect gravitational waves

(D) To observe and catalogue near Earth objects

frfefiaa # 9 f0 FIie= =1 TEeEy w8 o 7

(A) UErenfers Hegem (B) WEEFT

(c) =% (D) EEFEM

Which of the following is known as the Powerhouse of the cell ?
(A) Endoplasmic Reticulum (B) Mitochondria

(C) Nucleus (D) Ribosome

TR 1 A S s 754 e Fe e 2

(A) 10 faH=w 2021 (B) 10 fas=r 2022

(C) 10 fedat 2023 (D) 10 fager 2020

When was the 75" anniversary of the Universal Declaration of Human Rights celebrated ?
(A) 10" December 2021 (B) 10" December 2022

(C) 10" December 2023 (D) 10™ December 2020
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When was the first five year plan implemented in India ?

(A) 1946 (B) 1966 (C) 1951 (D) 1961
AEETSA F THAAE T @ ?

What is the chemical formula of Nitrogen ?

A) Ny B) N (€) N D) Ny
4 fau mu fawedi § @ RDX = quf w9 )

A o Eeeiz Tt (B) T ZEFYE T

(C) fmd fewdiiz usmivA (D) T fewriiz wewiaa

Give the full form of RDX, from the options below.

(A) Research Development Explosive (B) Raw Detonation Explosive

(C) Research Department Expansion (D) Research Department Explosive

e ferwail st e’ fms g folt M 22

(A)  TERTEE T (B) HH=ia furdl fren

(C) e =m (D) Hfereier TE

The book ‘Discovery of India’ is written by whom ?

(A) Jawaharlal Nehru (B) Suryakant Tripathi Nirala
(C) Mahadevi Verma (D) Maithilisharan Gupt

2016 F1 e H T 12 wega w0 9 aifew fafy w2

(A) 20 TEER (B) 30 FE=R (C) 31 FmwR (D) 15 TR
What was the last date of tendering old currency in 2016 demonetisation ?

(A) 20November (B) 30 December (C) 31 December (D) 15 October

frefafaa § & #F W 9idE fod 3% (RBI) #1178 &7

() faiel gz = fafem (B) ¥ A F fafmfa F
(C) Hidr Hre I (D) i Hifa = H=eE
‘Which of the following is not a function of the Reserve Bank of India (RBI) ?
(A) Regulating foreign exchange (B) Regulating the stock market
(C) Issuance of currency notes (D) Conducting monetary policy

IGST & “I" &1 11 e € 7

(A FiE (B) == (c) ez (D) ¥==
What does ‘I in IGST stand for ?

(A)  Important (B) Interval (C) Integrated (D) Internal
sfefem # TRuE S 2

A e ®) FFu (©) form (D) faet
Which is the Capital of Australia ?

(A)  Melbourne (B) Canberra (C) Brisbane (D) Sydney

Frferfiad 4 | = =1 e Hifen wew 1@ 22

(A) F=mE (B) A (C) FEgF (D) fE=z
Which of the following is not a social media platform ?

(A) Instagram (B) Naukri (C) Facebook (D) Twitter
WA % HiauE F % SITAR AR TR T F i ¥ sfaa e #)

() ) e (B) e Syt

(C) el srggs (D) =& s
Cybercrimes fall under State subjects as per the of the Constitution of India.
(A)  Third schedule (B) First schedule

(C) Seventh schedule (D)  Sixth schedule

‘e (a0 B o T ) fe ferd 2

(A)  HiferRT (B) ¥EF (C) == (D) FEwE
Who wrote “Mrichchhakatika” (or the little clay cart) ?
(A) Kalidasa (B) Sudraka (C) Charudatta (D) Vasantasena

T, fardt v & wafis i e

(A Tadifei = &= 3 (B) Tt =i = wael Fm

(C) = i T (D) TaEifEt +1 AT WEE A
What is the primary objective of counter-insurgency operations ?

(A)  Military suppression of insurgents (B)  Supporting insurgent groups

(C) Negotiation and compromise (D) Providing amnesly to insurgents

S EER A (ITU) 0w 7

(A)  Torreia 29 § grEn sreE F fon fada weea wem w7 g

(B) ITU At devie 2w o Frmi o & st siirems qmi s st siteen wew & fetm
FAE

(C) ITU il = Fneli i T & ¥ iR wmedi % TR 2w famm 1 feftE 5w 8

(D) i godem + fafmEia w5

What does the International Telecommunication Union (ITU) do ?

(A)  Provides financial support for i in ing countries.

(B) ThelTU i i ] online contentand social media platiorms.

(C) ITU oversees international postal services and regulates mail delivery across borders.

(D) gulating i i icat

I R H A T T (NSI) e fea §7

(A) FTE (B) SR (€) = (D) TS
Where is the National Sugar Institute (NSI) located in Uttar Pradesh 7

(A)  Kanpur (B) Prayagraj (C) Noida (D)  Lucknow
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(A) =1 & § Forarg 9iEe #1 Harnaa #
(B) =M =R s = fafafm +5i
(C) Tl 2™ % fawm 1 =g &

(D) Hen IR foru T wem A=l

What does guadrilateral security dialog do ?

(A) Address climate change in forest regions

(B) Regulate international trade world

(C) Promote infrastructure development

(D) Enhance maritime cooperation for security purposes

AT A 1 FE W AR A SR AfiertE e R w R e

(A =R 21 (B) =T 25 () o< 14 (D) sTHT 19
Which article of the Indian Constitution guarantees the freedom of speech and expression ?
(A)  Article 21 (B) Article2s (C) Adticle 14 (D) Article 19

T A, S e @ F (e 2024 TF) medl § 9, fFw 3 F A weae S a2

[N 2o (B) TR ©) A (D)

Luis Montenegro, recently seen (as of April 2024) in the news, became the new Prime Minister of
which country ?

(A)  Mexico (B) Poland (C) Spain (D) Portugal

o fagm § frerrde i qF 1 399 8 2 1 ¥, faam 1 R sin PR S e SR fEn ot
Wi foen s few it frerat @i gr w1 o 1 1 F e
The ratio of glycerin and water in a mixture is 3 : 1. How much fraction of the mixture must be drawn
off and substituted by water so that the ratio of glycerin and water becomes 1:1?

(B) 34 ©) 13 D) 12

T O S EE, X Y, 513 % S 4§ | v 8 wiex faam fen s ¥, oK e e Y E W
e T &, 1 X #Y 1 oruE 2 3 A S ¥y F a F R e we X a7

A container contains two liquids, X and ¥, in the ratio 5 : 3. When 8 liters of the mixture is drawn off,
and the container is filled with liquid Y, the ratio of X to Y becomes 2 : 3. How many liters of liquid X was
in the container initially ?

8 3 find
» 135 ® 2y ©) 10 0 165

WY, U U 392 F o e €1 At I ¥ e e e, e § 3(1/2) W e
%, o & Fw W A W EF 1 awet w0 H e wwa a2

(A) B(1/2) Hx (B) 10(1/2) = (C) 127 (D) 21

A pump can fill a tank with water in 3 hours. Due to leakage in the bottom, it takes 3(1/2) hours to fil it
In what time the leak will empty the fully filled tank ?

(A) 6(1/2)hours  (B) 10(1/2)hours (C) 12 hours (D) 21 hours

ittt fog A 7 B T 50 FHwl/Te1 F1 W | Fom # i B F 30 FHE/TA W W H A WA @
T 0 A @ HA |

(A) 425ff/s  (B) 3r.5TEE/sa  (C) 45 feHUSm (D) 40 FEi/ER

Kartik walks from point A to B with 50 km/hr speed and returns B to A with speed of 30 km/hr. Find his
average speed.

(A)  42.5km/hr (8) 37.5km/hr (C) 45km/hr (D) 40 km/hr

T T9-FFTE F 1900 T F a9 A g 5% F o4 8F 1 38 2080 T H G W qH Tt whevm w1
@ Em ?

By selling a tape-recorder for Rs. 1900, | lost 5%. What percent shall | gain by selling it for Rs. 2080 ?
(A) 45% (B) 19% (C) 85% (D;

4%

9 ol e i ey Fs # 7wl

(A) 35TE/TFE  (B) 1.5WR/IHFE (C) 05 HRUIEE (D) 2.5 WeUIEE
Convert 9 km/hr into m/s.

(A) 35m/s By 15m/s (C) 05m/fs (D) 25m/s

= TEnH F LCM 495 ¥ 3R T HCF 5 ¥ | 473 el =1 4m 100 ¥ @1 37 37t 91 it |

The LCM of the two numbers is 495 and their HCF is 5. If the sum of the numbers is 100, then find
their difference.

(A) 15 (B) 20 © 5 (D) 10

A, B 3 G ¥ Wfafed F1 37q 3777 45 ¥4 ¥ 179 A S B 1 Wlled %1 W 3 40 ¥ & 310 B 3
G =1 fafed #1 siwa 17 43 794 &, 1 B F1 wfated #1 503 w0 E?

The average per day income of A, B and C is Rs. 45. If the average per day income of A and B is
Rs. 40 and that of B and C is Rs. 43, then the per day income of Bis :

(A) Rs.41.5 (B) Rs. 425 (C) Rs.30 (D) Rs.31

17 TEH F 720 TR A F AR, W FRA F f A s e s T A At g & @
T T A g e R

Atter selling 17 books for Rs. 720, a shopkeeper says that he losses by C.P. of 5 books. Find the C.P.
of the book.

(A) Rs.120 (B) Rs.30 (C) Rs.50 (D) Rs. 60

T H &1 AR 1 10% TaRwsi 3 e T ) 60 Ta way wg | fosiar sniean w5 wh
1 47% W1 T # <i o 308 1 A Sfewn ¥, A A wwwmwd F1 w9 wraw)

There were two candidates in the election. 10% of veters did not cast their votes. 60 votes were found
invalid. The winning candidate got 47% of the total votes and won by 308 votes. Find the number of
voters enrolled.

(A) 6200 (B) 6,340 (C) 6,150 (D) 6,600

6/5, 7/10, 2/25 T AR TAMEE (LCM) F1d FHifad |
Find the LCM of 6/5, 7/10, 2/25.
(A) 4355 (B) 44/5 (cy M5 (D) 42/5

A ¥ 1,12,000 T F i T UF SEEE IE ) 2 969 915, B H 80,000 T9H & Ush o @i
e ¥ YiHe g T, a9 39 2 TEE A% C 3 72,000 T 1 Sl @ S s H wnfoe 8w
S YEAE 3§ 10 TE 915, B 3 8,000 ¥ @ @ ford @i C ¥ oft 8,000 T A @ ferd At
Bl o % fa § @ H & 3wk feed % 9,800 WA 9 g, F et et foram en ?

(A) 30,800 (8) 33600 FF (C) 32,400 7 (D) 35,800 ¥

Aslarted a business with a capital of Rs. 1,12,000. After 2 months, B joined the business with a capital
of Rs. 80,000, and after another 2 months, G joined the business with a capital of Rs. 72,000. After
10 months from the start of the business, B withdraws Rs. 8,000 and G also withdraws Rs. 8,000. If
B received Rs. 9,800 as his share in the profit at the end of a year. then the total profit was :

{A) Rs. 30,800 (B) Rs. 33,600 (C) Rs. 32,400 (D) Rs. 35,800
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WM B T AR AR 25 Fie A7 [0 G S, q == G | wia |
The amount will triple in 25 years on simple interest. Find the rate of interest.
A) 8% (B) 10% (C) 15% D) 12%

HHel UF F F1 51 Tl § 0w ¥ fawe 79 1 F0 § Fa B 50% AfF e 2, @ fawa 5w
Fm F foE fedf A wom 2

W 34fA (B 10(12)f (€ a4fE (D) 32fA

Komal can do a work in 51 days. Bimal is 50% more efficient than Komal in doing the work. In how
many days Bimal will do that work ?

{A) 34days (B) 10(1/2) days (C) 44days (D) 32days

e & 28 BT 3 3f# % sivew 5 o411 8 T T e 91 e, 1 7w sl 0.5 =7 T, 6 e Bigt A
oTH GRI W i s wn €7

The average marks of 28 students in Mathematics was 5. 8 students left the school, then this average
increased by 0.5. What is the average of marks obtained by the students who left the school ?

(A) 425 (B) 456 (C) 505 (D) 375

< T W 5% e T W U @SR 608 T § 20 Tl s S @y wwa ¥, o i e
e faea wem #n ¥7

With a 5% discount on the cost of sugar, a buyer could purchase 20 kg more sugar for Rs. 608. What
is the original selling price of sugar ?

(&) 16.50 ® 16 (C) 1450 (D) 15

A 2 A A 4% A wHGhE P F X P 13,520 T A AW 8, @ g hw e 2

A sum becomes Rs.13,520 in 2 years at 4% per annum compound interest. Then the original sum
is :

(A) Rs. 12,450 (B) Rs. 12,500 (C) Rs. 12,250 (D} Rs. 12,700

UF TEAER UF A F sifed qoa W 12% # g2 3 v da € e gew 1320 v & dram
i T TR ?

A shopkeeper allows a rebate of 12% on the marked price of an article such that the selling price is
Rs. 1320. Then the marked price of the article is :

(A) Rs. 1600 (B) Rs. 1550 (C) Rs. 1490 (D) Rs. 1500

& T X 3 Y fae e Sen 2 @ wEe: 20% 41 28% FH €, 9 Fen Y @en X & e vfiwa we
&2

Two numbers X and Y are respectively 20% and 28% less than a third number Z. By what percentage
is the number Y less than the number X 2

A 9% (B) 8% ©) 12% (D) 10%

af% @ 10 wier s 1 o v i fr 180 ferft <1 i g t o e e A e €2

w (B) wiEm (© =W D) =W

‘Which way are you facing now, if you walk 10 meters to the North and then turn 180 degrees to the
right 7

(A) East (B) West (C) South (D) North

3 foem T W A SverR Wi W S Wi A a9 € Fe e #1 wen
6001

Given below is the pie chart which shows the percentage distribution of the five types of ice-creams
available. Total number of ice-creams is 600.

ICE - CREAMS

Az AfFen EEmm T A Afeensd B HEN WA W A ST TR A w5 aen A

21 I B, T =R SEEE T wie el Afeensi ¥ HE I Fie |

If number of females who bought Vanilla ice-cream is 21 more than number of males who bought

same flavoured ice-cream, then find the number of females who purchased Blueberry ice-cream ?
61

sjen H o e (A&B) T 1 31 B — A 1 HA T FL

Find the missing numbers (A&B) in the series and find the value of B—A.
51,57,63,A,75,81,B

A) 18 (B) 14 (C) 28 (D) 22

4% a&b=a+b+1,a$b=a+b%+2, A (4$3)&2 F1d FL|
Ifagb=a2+b+1,a$b=a+b2 + 2, find (4$3)82.
(A) 322 (B) 286 (C) 228 (D) 242

sjen H o HEAn (ASB) T HE 3T B — A F1HF FE HE

Find the missing numbers (A&B) in the series and find the value of B—A.

123, 148, A, 198,223, B, 273

A) 75 (8) 100 (C) 25 (D) 50

= faeres I Fifen S v foa % w=m 9 )

Find out the alternative which will replace the question mark.

18 ;79672

(A) 20 B 9 (c) 5 oy 7

T = AT FE FE H IR A
By analysing the graph, answer the question.

Foreign Exchange
6000 |
5000 1
000

3000 W Forsign Exchange
2000
1000
0
g 3 88 3
941448

1992-1993=2520

1993-1994 =4201

1994-1995=3720

1995-1996 =5040

1996-1997 =3120

s ard forzeft w1 view & fagd ad @7 qorn 3 wiowm gfg wod st &2

For which year, the percentage increase of foreign exchange reserves over the previous year, is the
highest ?

(A) 1996-1997 (B) 19931994 (C) 1992-1993 (D) 1994-1995
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T SEen § AW = amm s Z, W, R K, ?
What comes next in the series : Z, W, R, K, ?
w ¢ B D ) A D) B

e fared T Fifey o W fae F wm W e

Find out the alternative which will replace the question mark.

138:18%::723:7

n) 772 B) 79 ©) 720 (D) 73

Frafefan # § %1 m wiva vien, ¥ o S F 6 6y F 96 9w 9 4 < €7
Which of the following diagrams best represents the relationship between Examination, Questions
and Practice ?

@0 (3
(© OOO & GSD

o v U Tt H SEE S g wdie G @il ol S 9§ | e 3 T § R 71 wd
279 F 79 W ¥ T 262 T T g0 5 @il 3 5 oI amemwm 4wy

The Venn diagram shows the number of people who bought ice-cream and drinks in a theatre.
Ice-cream is sold for INR 3 and drinks are sold for INR 2. A total of INR 262 is spent. How many people
bought both a drink and an ice-cream ?

Drink Ice-cream
’ 22
A 4 (B) 28 (©) 30 (D) 40

Frefertan § & fm v & s ST st wn d €7
Which of the following words has its letters in an alphabetical order ?

(A)  Almost (B) Work (C) Drizzle (D) Swim
Frefafaa weA = 7 SEEn J Hefia € -

1. A+BHRAGTABHTE

2. A-BRFIETABF T

3. A'‘BFizd A BEfumE

4, ABBFHHTA BT WE T

The following question pertains to the given information :
1. A +B means A is the mother of B.

2. A—B means Ais the sister of B.

3. A'BmeansAis the father of B.

4. A BB meansAis the brother of B.

FrfatEs § 4 F6 MEFq s g N MFF g ?

Which of the following indicates that “N is the maternal uncle of M" ?
(A) QBMEN*P (B) NBP-L+E—M
(C) Q*N*M+P (D) P+N*M"Q

AT FACULTY' W1 % &R, e, Wied 3it | stardl %1 S92 UF Fea T o o1 Jahel 2,
Torr el 1R T FEE UF 9 ITEM T, @ 39 A o= F S e # e 3w ¥ At
T T IR T T HFA G, AT I A X F w0 A fafgm w9k wF | i 1@ =
W HH €, 1 A9 I H 2 F w9 Al w0

If a meaningful word can be formed using the second, third, fifth, and seventh letters of the word
‘FACULTY", with each letter used only once, then provide the last letter of that newly fermed word as
your answer. |f no such word can be formed, mark your answer as 'X'. If more than one such word can
be formed, mark your answer as ‘2.

@ Y ® C ©) X D) z

e sl e F w6 E S w e 3 sem W ¥ i IwE A A I e fig
21 I famedl § welf w1 9% S 9 S e Wi § s frvd & T vty wey o w5 e

Given below is a pair of words/letters/ numbers separated by a colon and followed by four answer
choices. Choose the pair of words in the answer choices that best expresses a relationship similar to
that expressed in the original pair.

ABC: ZYX::
(A) BDE:XCD  (B) CBC:XZY (C) BCD:YXW (D) CDE:XVZ

T S fig A @ wEE 5 w § Sl 5 el S S wer 8, fR 3 s o @ e, fir
2 it S # sl i 37a H 1w g # e fag A ¥ e st # i ferfa wnE

(A) 7 =l Ofvan 3 3 = I (B) 2 =l qfvam R 3w I

(C) 4 it afymm 3f 4 =it 3w (D) 1 = ufey R 2 =i

A person starts at point A and walks 5 blocks North, then 3 blocks West, then 2 blocks South and
finally 1 block East. What is the person’s final position relative to point A ?

{A) 7 blocks West and 3 blocks North (B} 2 blocks West and 3 blocks North

(C) 4 blocks West and 4 blocks North (D) 1 block West and 2 blocks North

WA {408 (7) % TIM W I A 4 4 3tad seta gt

Choose the appropriate figure from the Answer Figures to replace the question mark (?).

JEEE
@) Fﬂ ® m © h ©) ﬂ

Af% 9= “EVEREST" ¥ 31871 il avigwa & =afeem fofan <, &1 v & Z6T s & 2 9 350 s
FA-T Em?

If the letters of the word “EVEREST" are arranged alphabetically, then which letter would be 274 in the
right from the second letter of word ?

A R B) S ©) E D v

T T T 2 g e e, e T A i 5w A ) e e 5 et
2

(A) ®) T (C) it (D) T

Introducing a girl, Anthony said, “She is the daughter of the daughter of the mother of my aunt.” How is
the girl related to Anthony ?

(A)  Brother (B) Sister (C) Neice (D) Nephew
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AR K= ALK LF MY, K+LF A TR LR R ikl mad TR LT ¢
WEE T MEN=OxP HNF P F gy §7

A) N PHTAEY (B) NPHFTEE

(© NPFaEE (D) NPHFEE

If K< L' means K is father of L, 'K+ L' means K is wife of Land ‘K+L means K is brother of L, then
what is the relation of N with P in ‘M+N+Ox P’ ?

(A) Nis the cousin of P (B) Nis the father-in-law of P
(C) Nis the uncle of P (D) Nisthe sonof P
+fen 3 & i = T e D

Find the odd man out from the series.
2,6, 12, 20, 30, 44, 56, 72,90, 110

(A) 110 B) 72 (C) 56 (D) 44

o v 4 i A B
Find the odd one out from the given options.

(4) 125 (B) 652 © 5 (D) 25

e 1 HE F R v I )| e Fo ol § fatia 1wl @ e e v § sufe @ B
AR AR I F A S w5

Examine the table and answer the question. Number of Candidates Appeared and Qualified in a
Competitive Examination from Different States Over the Years.

1997 1998 1999 2000
Ppp._| Qual | App. | Qual | App. | Qual | App. | Qual.
5200 720 8500 980 7400 850 6800 775
7500 840 9200 1050 | 8450 920 9200 980
780 8800 1020 7800 830 8750 1010
8100 950 9500 1240 | 8700 980 9700 1200
7800 870 7600 940 9800 1350 7600 945
1998 & Wsfl oAl | IV SHCEART F1 el WA, 2000 F W T F T FHTART 1 et FeA T
ot wferra 2
Total number of candidates qualified from all the states together in 1998 is approximately what
percentage of the total number of candidates qualified from all the states together in 2000 ?

(A) 109.17% (8) 107.17% (C) 108.17% (D) 108.27%

z|o|v|z|z
b
5
8

4% ‘REGULATORY', 9= 3 Beft s1ard] =1 siirsfl arvimrenl 5% % #178R =rafeeq formn s, ) qefafem A
F F A% fopa siarl #1 feafa smfafda w2

If all the letters in the word ‘REGULATORY", are arranged according to English alphabetical order, the

positions of how many letters will remain unchanged after rearrangement ?

@ 3 ®) 2 ©) 5 (D) 4

B D

(n/5) . 420 +1
(1024)7% % 477 o o i

e gl
(/5) 2n +1
Evaluate the expression M 3
16" x 4"~ 1

A 32 (B) 128 (C) 64 (D) 18
gE T | A
Complete the analogy.
B8:256::27: .
(A) 6561 B) 729 ©) 216 (D) 90625
el 36, 54, 74, 96, 120, el A
Complete the series 36, 54, 74, 96, 120, =
(A) 146 B) 148 (c) 152 (D) 185
“@el 36, 54, 74, 96, 120, i it | A
Complete the series 36, 54, 74, 96, 120, .
(A) 146 (B8) 148 (C) 152 (D) 165

T St e T R g s A e A 90 fEi 3 W e e € i fr 2fEmed fam o c
45 ferit & A1 = T ¥ ) 39 e ¥ ve e v o e fam H ¥ 2

) Iw-gE (B) =fem (C) fem-gd ©)

A manfacing South - East makes three tums of 90 degrees in the anticlockwise direction and then two

45 degree turns in the clockwise direction. In which direction is his right hand now with respect to

him ?

{A) North-East (B) South (C) South-East (D) East

Az faelt 0 1 g0 F0 7 15 4fwai #3110 T @@ & @ o w7 A6 A [ e F o e ¢
AT F I g 2

How many workers would be needed to complete the same task in 6 days if it takes 10 days for

15 workers to complete a task ?

n 22 ® 28 ) 25 (D) 18

% 95474 T FBADA 5 ¥  foran T %, 71 96457 1 374 foren s 2 A
1f 95474 is written as FBADA, then how is 96457 written ?
(A) FCABD (B) FDACB (C) FCADB (D) FDABC

sf@ 18, 40, 70, 108, Eukadl A
Complete the series 18, 40, 70, 108, .
(A) 154 (B) 164 (Cy 134 (D) 144

I H F i T w g #1 Wit w0 ? D
Which number will replace the question mark in the sequence ?

5,12, 26, ?, 110, 222

(A) 56 (B) 55 (C) 52 (D) 54

af2 MANGO F1 80415 % &9 H Fifed fa1 7 2, @ Frefifaa § | forgan demes 91 81504 2 D
If MANGO is coded as 80415, then which of the following has thus numerical code 81504 ?
(A) GOANM (B) AOGMN (C) MNGOA (D) MGOAN
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FIHR-TE T = iR =@ aw At s afen we e fam §

(A)  T-uEEm (B) ST (C) =fem-uf=m (D) WO
A person walking towards North - East direction sees his right hand in which direction ?
(A) North-West (B) North-East (C) South-West (D) South-East

0 e % T 1 e T A E ) e, e 3 E S e A e o fam

P, qeeh B fFm we gt 27

(A) (8) = © = (D) wrsit

Heera is the daughter of Amal's father’s sister Rema. Aryais the daughter of Divya who is the mother
of Amal. Murali is Rema'’s father.

How is Arya related to Murali ?

(A) Grand-daughter (B) Sister (C) Mother (D) Niece

WA AR TF I F @, Qo= F 2w, e e @ Faa
i i foran ek g & fawda 1

I3 % T0A R FE q 2

(®) fm (8) T (© (D) =&

Six friends are sitting in a circle and are facing the centre of the circle. Deena is between Nandhu and
Unni. Aby is between Biya and Betty. Nandhu and Biya are opposite to each other.

Who is sitting right to Nandhu ?

(A) Biya (B) Aby (C) Deena (D) Betty

A U e S S WA U O BT R A ¥ SR 7 F e &, e
SR PR 2

(A mEA (B) T () ufa= (D) grEmE

When a cylinder is sliced by a plane parallel to its height and passing through the center, what is the
shape of the cross-section ?

(A) Circle (B) Rectangle (C) Ellipse (D) Triangle

= AR, AEE 92 F A W E, 1 S, TE 3 e v weEtE 2

(A) (B) wré (©) = (D) = ()
If Xavier is the brother of the son of Yakub's son, how is Xavier related to Yakub ?
(A) Grandson (B) Brother (C) Son (D) Cousin

afy ol gwan &, @ @ FE-wm e

(A) TEER B) AR (C) TwAm (D) AT
If the day after tomorrow is Friday, what day was yesterday ?
(A) Tuesday (B) Sunday (C) Wednesday (D) Monday

AT 26 H, BF 25§ i 36 W 2 1 1 F wfrenf fEm e R, @ ULTRA wet & o W Tt T
A = A A ?

If Ais substituted by 26, B by 25 and so on upto Z by 1. What will be the sum of numbers substituted
for the word ULTRA ?

(A) 63 ®) 61 ©) 71 (D) 68

o frfm SRREA # 4 fawa R S T 99 o gR wR e g T R R e 8
FrA- TR 1 AFL N E?

(A) TR ®) ir=m ©) wm (D) e

Aregular dodecahedron is sliced by a plane passing through two opposite edges and not through any
vertices. What is the shape of the cross-section ?

(A) Pentagon (B) Rhombus (C) Rectangle (D) Parallelogram

g T FH |

WEN ;A ;A

(A) FEWH (B) TERIEE (C) =T (D) =™
Complete the analogy.
Light : Bulb : : Sound :
(A) Headphones (B) Microphone (C) Speaker (D) Mouse

o, it 5§, 39 Fo3 1 =9 &L S o3 oAfm W % =9 9 599 39 B
From the figures given, select the one which is most suitable as the last part of the figure.

LT L
B C) D
@ Lag “bad ©bhao
FreAfefaa 3 4 S =N |
Find the odd one from the following.
(A) 453 (B) 455 (C) 452 (D) 451
gl 0 |B O
A A O ] 0 & A
Ay A A A

f e Feedl § § SR men § epren s o -
Choose the next diagram in the above series from the options given below :
8] A A 0

w P4 @ DD @l 0 o 0

e ol & e T T T fered vl v € i e A A § ) 3e T fen e i 919 4 A o,
weff T A o, R A E9 A e, @ I T TR v v

Ahunter was asked how many birds he had caught and had in his bag. He replied that there were all
parrots but eight, all ducks but eight, and all swans but eight. How many birds did he catch in total ?
W 12 ® 10 © 8 () 18

T fae oo S a4 fm &
Indicate the option that is different from the rest :
(A)  KPML (B) QUSR (C) BFDC (D) VZXW
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(A)  FHam (B) =R ) fere (D) ==
Complete the analogy.

Architect : Blueprint : : Composer : ?

(A) Canvas (B) Score (C) Script (D) Stage

e T 1 ot 3 g, w3 e, e B 32 9 el 99 9 6 ¥ )" afeen 9f 3 R
wfim &2
() W (8) © == (D) it

Introducing a woman, Shashi said, “She is the mother of the only daughter of my son.” How that
woman is related to Shashi ?

(A) Wite (B) Daughter-in-law (G) Daughter (D) Sister-in-law

91 T sfeen & x 7 i |

Find x from the given series.

12, 16, 24, 36, x, 72

(A) 48 (B) 62 C) 52 (D) 50

= wfafea T i)

Find the mirror image.

/'
N A

T fafeem e W H, 'COMPUTER' #1'DPNQVUFS' feran s & 1 38 #12 # 'LAPTOP' @1 34 femn
w2

In a certain code, ‘COMPUTER! is written as ‘DPNQVUFS'. How is ‘LAPTOP" written in that code ?
(A)  MQPUPQ (B) MBQUPQ (C) MBQUQP (D) MBUQUQ

e *1 HImd 80 FH H 100 ¥ OF @ Wl & | Fioa § ufevm gig 0 E?
The price of petrol rises from Rs. 80 to Rs.100. What is the percentage increase in price ?
(&) 10% (B) 30% (c) 20% (D) 25%

T S F R A U 2 A & uen, 6, 0 S SR W F S v
1 e wm ¥ - 3 e, 4 f, 5 e oI 6 o, A el T e ) wem
e F e Te 1 AvA T e e w6 A 8 = F w9 wes e e
T  E 7

@ 7fa | 4fa © 3fa (D) 5fA

Amanager has a team of four people : Adam, Brian, Carol and Diana. Each one has a different project
deadline : 3 days. 4 days, 5 days and 6 days, but not necessarily in that order. Adam's deadline is
earlier than Carol's. Brian's deadline is not the longest. Diana's deadline is the shortest. What is
Brian's deadline 7

(A) 7days (B) 4days (€) 3days (D) S5days

Frefafiaa fom & v (Feritg) =i dem 7@ Fia |
Determine the number of pentagons in the following figure.

® 8 ® 10 ©) 5 (D) 6
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